> restart
> # Exercice 1
1
2-sqrt(n 4+ u)’ uj

u= ! —n €))

(2yn+1 —2J7)2

5 —nn= inﬁnity]

> isolate(sqrt(n-l—l) sqrt(n) =

1

> limit[
2Vr+T-2n)
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;> # Exercice 2
> rsolve({f(n+2)=f(n+1)+2:f(n),f(0)=—4,f(1)=—2}1)
—2(—1)"=22" Q)
:> # Exercice 3
[ *
k
> limit(product(2 k=1 ..n), n =inﬁnityj
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> llmlt[sum( 7, k=1 ..nj, n =1nﬁn1tyj
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> limit| int —2,x=0..n , n =infinity
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;> # Exercice 4
> rSolve({f(n+2)—f n+1 f (0)=1/(1)=1 }f)
n
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> seq(f(n),n=1.20)
1,2,3,5,8, 13,21, 34, 55, 89, 144, 233, 377, 610, 987, 1597, 2584, 4181, 6765, 10946 8
;> restart
> fi=xosqrt(x— 1);g = (x,y)=x =)
f=x~Jx—1
2 2
g=(ny)x —y )

> # Exercice 5



solate| sqrt(1 +x) =1 + a t
solate X) =
d 2-sqrt(l 4+ x-1)

2
X
5> — 1
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4|\ —y1 1
limit ( tx ) ,x=0
X
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# Exercice 6
restart; limit( Sosm(x) ,X= 0)
X
5
5-si
f= xeifoOthenSelseL(x) fi
5-si
f:=xl—>ifx=0then5elseL(x)endif

X

plot(f,—3-Pi.3-Pi)
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X
> plot ,x =0 _.infinit
po( I x|, x 1n1n1y]
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& — | ¥ =1
limit[ oIn(x) — x,x=inﬁnityj; limit[ oIn(x) — x,xZOJ; limit[ oIn(x) — x,xZIJ
— 00
undefined
1

=1
solve(diﬁ”[ ,x) =0,x)

x-In(x)
eRoonf( (erZ)2 Z— (erZ)2 + Z+ 1)

evalf ( eRoonf( (c2? 7— (2% + z+1) )
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> limit[ oIn(x) —x,x=0, right]; limit[ oIn(x) —x,x=0, leﬁ)
oo
—
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> limit ,x=1|; limit ,x=0|; limit , X =1infinity
x-In(x) x-In(x) x-In(x)
2
undefined
oo
I ¥ — P—1
> llmlt( oIn(x) ,x=0, rlghtj, lzmzt[ In(x) ,x=0, leﬁj
OO, — o0
_> # Bonus

> rsolve({v(n+3)=v(n+2)+vin+1)+2v(n),v(0)=1v(1)=0,v(2)=0},v)
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n
91 3 1 13
2" 41(4+4][_2+2j

simplify| subs n==100,77-—— 71
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